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3 (Sem-2) Eco

2018
ECONOMICS
( General )

( Introductory Macroeconomics )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
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(b)

()

8A/677

Define net national product.

2% TBT SR IRe |

What is meant by marginal propensity
to consume?

o eIl el et & T ?

Mention one motive behind the demand
for money.

wﬂ%ﬁmwﬁﬁmm%mw.

( Turn Over )




(2)

(d) What is liquidity trap?
O T A 2
(e) State Say’s law of markets.
@3 I&[ [EE 7% 10 |
(/) Draw a diagram of induced investment.

iiTe Rfcaem «ft o s |

(g) Define inflation.

Tarifes e fi |

2. Answer the following questions : 25iat
TS fidl 2pTRy ey fia
(@) State  two  difficulties in  the

measurement of national income.

B A S S o A (2 T
PR IrE 41 |

(b) Distinguish between autonomous and
induced investments.

Fosfiaoe Rffcas e wEafas R
RICCRIR e Rl

(¢ Mention two limitations of the classical
theory of employment.
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(3)

(d) State. the fundamental law of
consumption as given by Keynes.

@ECE TR SogerR (e RIS o
90

3. Answer any three of the following questions :
S5x3=15

wore faan erpTd R e oo S fian -

(a) Explain the relationship between
national income and economic welfare.
IV O WF TLARE AR THS ™ok
A A0

() Explain the effects of inflation on
distribution.
ReveR eoe @rRfeT 2R A 41 |

(c) Discuss the properties of the
consumption function.
Torgete! Fema 4R e 91 |

(d) Explain the limitations of multiplier
theory.
QTS TG SCTRIDTR T 31 |

(e) Mention the limitations of the classical
theory of interest.

R RS TIOR SCTRRR BEY 57 |

8A/677 ( Turn Over )




( 4)

PR answer any three of the following questions :

@@ﬁmmﬁm%ﬁ%ﬁwm;

State and explain the factors which

(@ influence the propensity to consume. 1
ool YRTOI @S AOR COICERT TAMITR
e IR TR feran |

() Explain Keynes’ theory of employment. 1¢
@ fasr wgcs! I

(© Discuss the production and income
methods for the measurement of
national income. S+5=10

?@ﬂmﬁaﬁ@m\sﬁmwwﬁm

@S SICAAT I |

(@ Explain the classical theory of interest. 10
I SRS wges! A !

(e) Discuss the cost-push  theory of
inflation. 10
TSRS JurRfe wgcsl SO P

() Whatis investment multiplier? Explain
the relation between marginal
propensity to consume and investment
multiplier. 2+8=10
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2018

ARABIC
( General )

( Arabic Prose and Poetry,
History of Islam and Grammar )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate Jfull marks
for the questions

Answer all questions

GROUP—A

( Prose and Poetry )
( Marks : 30)

1. Answer any five of the following questions

in Arabic : 1x5=5
Coasall 9ll Giys5 S (@)

. Qebilia B 0yilus 30 (S (B)
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